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2. f.:19MRsld ~ >f~-;ff if "B ~ ~ ~ \3W ~ :

(i) BR- ~ ~ ~:@~lQptt~ Cf)f WCf Cf<IT %f \ill'"ill ~ ?
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(iv) 'qf\Cf if m c#r~ ~ ~ ~ ~I
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1. (i) ~c#r~~1
(ii) ~ c#r~ ~ ~ ~ ctR-m ~ ?

(iii) ~. ~ ~ ~ fWil
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(Hindi Version)
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(vi i i} 1-1 I3iCfi crr# JrritCfiJr~ry q;r iTrrr T:ICfi ~ l{f T:ICfi ~~ if, 3-3 Jftif crr# JIfitcFi Jr~ryq;r iTrrr 30-5 0 ~JCiif if .
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(ii) 'l1mf ~ ~~ft czw:n\ ~ ~ CfiT qu8 cnr 1
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(Cfl) ~ (&) '3Wmf (<r) ~~ft czw:n\ Ix6=6
6. ~9Rl[{sj~ ~ ~~~ if U ~ ~ ~ \Ff{ ~ :

(i) ~ ~ ~ mm if ~ ~ ~ CfiT qu8 cnrl

'qJ7f-~ (~)

;ftc: f.F"'iRl[{sj~ ~~~ ~ \Ff{ ~ ~~ 131~ ~ cn<Ff if ~ :
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1

1
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(ii) ~~

(iii) ~ ~ CfiT ~

(iv) ~ ~ CffiTlT \f\1<.f

(v) ~I

5
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11. m (1947~· ~) ~ ~ if ~ :
(i) GfCRiIT

(ii) qoHchlc:

(iii) ~

(iv) filfffi£tICl Iiii I
(v) \3~~

5
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9. ~9~fulC1 ~ q"~'1l if i:r FcFm cfR ~ \FIT ~ :

(i) ~ cn1W..q ~ q~~ ~ ~ ~ f*T i:r ct;m ~ fco<lT ?

(ii) ~~cn1~IT{~~ml

(iii) .m ~ \Tlf ffig \Jfi cn1cim ~ i:r ~ eN ~ WI\IT ~ ?

(iv) ~ ~ ffig \Jfi ~ ~ if i3l1RT ~ ~ ~ ?

(v) ~ i31$r ~ \Jfi cn1~~ IT{ ~ -;ftc m I

1

1

1

Ix6=6

(\Sf) 1514~. if
. (tr) 1518~. if

(Of) 1524~. if
(<r) 1519~. if

(v) ~~~~m~?
(vi) ~ 1R9? ~ \Jfi ctm ffi ~ ~?

1

1

i3fcn = 25

( 7 )

~-lf (~)

;ftc: ~9~fulC1 q"~'1l ~ \FIT ~ ~la:: i3l~ ~ CWFl if ~ :

8. (i) ~-q"~ i:r CF1T 'l1TCf ~ ?

(ii) m eN '~ fW-~' ~ ~ if cnQT \1fTC1T ~ ?

(iii) \ifN ~ ~ "fCRT ~ ?

(iv) ~ ~ m IT{ "Cffl"ffi i3fWlUT ~ fco<lT ?
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(English Version)

Note: (i) You must write the subject-code I paper-code 061B in the box provided on the title .
page of your answer-book.

(ii) Make sure that the answer-book contains 26 pages (including title page) and are
properly serialed as soon as you receive it.

(iii) Question/s attempted after leaving blank pagels in the answer-book would not be
evaluated.

Ix5=5

5

5

3

3

3

3

3

3x3=9

1

1

Ix6=6

1

1

1

1

~=20

( 8 )

'ifI1T-~ (~~)

;ftc: ~kj~RstC1 ~~";lfcf; iN\" ~ ~~ \31~ ~ cncF1 if ~ :

12. (i) 'm"ffl ~ ~ ~ CflIT ~ ?

(ii) mcnrtt ~ ~ ~ ~ ?

(iii) frmmrr ~ ~ ~ ?

(iv) {1,i'(Hi'+IT cf; ~ CJ?T ~ cRf ~ ~ ?

ft9:tr ~ I~ fclCf>Wl ~ ~~";f

(v) Bw; cf; \j=J BCR c8 ~ ~ ?

(vi) ~ ~ CJ?T \1frll .•••••..•....• c8 s'* I

(Cf» 24 \31'Wf (~) 24 ~

13. ~kI~RstC1 ~ ~~";lfif « ~ ~ cf; iN\" ~ :

(i) ~~fR;r cf; Ifh~I'\11CJ?T quR ~ I

(ii) JflCf>C1~ cf; 11FT if ~ qrffi ~m.mCJ?T quR ~ I

(iii) ~ 'Wlft9?f cf; ~ ~I
(iv) ~~if ~ i3fR~ ~-~ ~Cf){~~?
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5

1

lx6=6

1

1

1

1

1

Marks = 25

06/B-X

Which elements affect the climate of India ?

or

3. How does natural vegetation act as a boon for industries?

2. Answer any three questions out of five.

(i) Why Solar energy is said to be future energy source?

(ii) Why is India known as country of villages?

(iii) How many gauges of rail tracks are there in India?

(iv) Name the famous Gold mines in India.

(v) Inspite of being close to the Arabian Sea, why does Rajasthan remain dry?

(c) Doordarshan (d) Computer

Part-A (Geography)

Note: Answer the following questions in one word or one line:

1. (i) Define soil.

(ii) Which is the highest peak of the world?

(iii) Name two non-ferrous Minerals.

(iv) What is density of population of Punjab ?

Fill in the blank/multiple choice questions.

(v) Hirakud dam is meter long and, meter high.

(vi) means of communication is called communication medium of 21st century.

(a) Radio (b) Telephone

(iv) All questions are compulsory.

(v) Draw diagrams and maps, where necessary.

(vi) Use of stencil is allowedfor drawing maps.

(vii) Blind students will clearly write about situation of the centre, place or name of the
objects asked instead offilling the maps in Geography and History.

(viii) The answer of each question of 1-1 mark should be in one line or one word, of
3-3 marks in about 30-50 words and of5-5 marks shall be in about 100-120 words.

(ix) Attach maps of India and Punjab with your answer-book:

(9)
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What do you mean by savings? Define average propensity to save and Marginal propensity to
save. 5

lx5=5

or

3

3

3

3

3x3=9

7. Write a short note on change in volume and direction of India's foreign trade after Independence.
5

(ii) Explain the importance ofIndia's foreign trade.

(iii) What is the meaning of economic planning?

(iv) Define investment. What are the elements of determining the investment?

(v) Describe any three problems of small scale and cottage Industries in India.

6. Answer any three questions out of five.

(i) Explain the contribution of government in the development ofIndian Agriculture. 3

1

1

lx6=6

1
1

1
1
1

lx5=5

Marks = 20

(c) Foreign Trade(b) Imports(a) Exports

(vi) Goods that a country gets from other countries are called

5. (i) What are any two failures of planning?

(ii) What is seasonal unemployment?

(iii) What is meant by green revolution?

(iv) Mention one basic Industry of India.

Fill in the blank/multiple choice questions.

(v) RB.I. was established in ..............

Note: Answer the following questions in one word or one line:

Part-B (Economics)

4. Show on the map ofIndia :

(i) Hirakud dam

(ii) Indira canal

(iii) Black soil area

(iv) A state with high literacy rate

(v) Chennai

( 10 )
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11. Fill in the map of Punjab (before 1947 A.D.) :

(i) Batala

(ii) Pathankot

(iii) Multan

(iv) Chillianwala

(v) Anandpur Sahib

5
lx5=5

Describe the Plains of Punjab.
or

3

3

3

3

3

3x3=9
510. Describe laito Morcha.

9. Answer any three questions out of five :

(i) After the treaty of Bhairowal how did the British treat queen lindan ?

(ii) Write a note on the battle ofChamkaur Sahib.

(iii) Which activities of Sri Satguru Ram Singh ji frightened the Britishers ?

(iv) How did Gum Gobind Singhji spend his childhood in Patna ?

(v) Write a note on the martyrdom of Guru Arjan Dev ji.

1

1

1

lx6=6

1

1

1

8. (i) What is the meaning of the Manji system?

(ii) In which period Punjab was called 'Sapta Sindhu' ?

(iii) Who wrote the laap sahib?

(iv) When was Babur's first attack on Punjab?

(a) in 1524A.D. (b) in 1514A.D.

(c) in 1519A.D. (d) in 1518A.D.

(v) Which was the first Misl ?

(vi) What type of sacred thread did Guru Nanak Dev ji want?

Marks = 25Part-C (History)

Note: Answer the following questions in one word or one line:

( ] 1 )
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5

Ix5=5

Describe the powers of state Legislature.

or

514. Explain the main (basic) reasons which created tension between India and China.

3

3x3=9

(v) Discuss the relationships of President and Prime Minister.

(iii) Mention rights of an Indian citizen. 3

(iv) When and how many Anglo-Indian's can be nominated by the President in the Lok Sabha ?
3

3

3

13. Answer any three questions out of five.

(i) Explain the Principles ofPanchsheel.

(ii) Explain hurdles in the way of democracy.

1

1

Ix6=6(c) 24 December(b) 24 October(a) 24 August

(v) The upper house of Parliament is called .

(vi) United Nations was established on .

12. (i) What is the Atomic policy of India? 1

(ii) Who is a Public Prosecutor? 1

(iii) What is illiteracy ? 1

(iv) How the members of Rajya Sabha are elected? 1

Fill in the blank / multiple choice questions.

Marks = 20part-D (Civics)

Note: Answer the following questions in one word or one line:

( 12)
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